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Note : Attempt any five questions with a miBimum of twa questions from each section.

All queztions carry wgqual marks, : ‘
: Sectior: A
of te: the following terms :
(8) Singleton Set {b) Proper Subact el Doy Sl
(d) Conatant Function (o7 Consumplion Funerion o Anmuity
(g} Continuity of a Funetion {h) Consumer Surpiys. 2 each
2. (a) Ifthe supply function of a firm is given a8 p = Wi - v, than ealeulale the elostivily
of supply of the firm at x =2a. : 4
(b} Ify=a®dosx+log tain! x), then find iy /2% 4
f’ﬁa The t cticn of &2 firm prud'l.lﬂit‘ll-; alectricul  switches 1= given by
clx)= % +20. Show that increase in aulput level results in iull of margingl
eoat, <}
_ 3
;&-ﬁ-‘- ; - — i’x - 1
) | Fg davvonline.com :
log Ve + 65
w) [5G @
1
{ dx
s I "'_4'(5 wr:::}§ + Zﬁ
log log ¢*
(d) _[ o dx. 4 each
% (a) Solve the following equations using matrices / determinants :
dx +dy+z=4
Gx + 9y + 8z = 18
x+v+z=10
(b} Ifﬂz[% gJﬂndE,:[ } f]then prove that : (ABY = B' A,

Section B

,5‘1/ (@) "Statistics are like proposals of marriage — they should be, but ravely are, studied
A i tmnsideredp very deliberately, upon their all round merits." In the light of this

’ statement, examine the funclions and limitations of Statistics.
(b} Calculate the rank correlation coeflicient :
X : 48 L H] 40 9 16 16 a5 94 46 B

6. 'ta) A has 4 shares in a lottery in which theré are 4 prizes and 5 blanks. B has 3 shares
in another lotterv in which there are Er prizes and 4 blanks. Which has the better
chance of witniing exactly une prise ? ﬁ'!.‘:ut 14 the chance of winning v prizes ¢

(hy Explain the distnetive features of Bimomual, Normal and Priwson probabilicy

distributions. davvonline.com
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B . ) Two v_nﬂnh!ﬂﬂ_ﬂnw.‘ the f':J[]leiu'; diglay
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(b)
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= Ao
X 20, Y = I-ﬁ, lI‘Iil_ i JI, ﬁv = ;'-jr o=k ”.'?' X 94
Oblain the twy, repressinm L‘qu.:].timr-; and find the most likely value G0 ghen S

;I::I::rful_lnwil‘u{ e the annng] prulits i {hausands in a vortain business
Profie . 2001 9002 pony  apyg 2005 2006 2007
Hv t 2 2 3 G5 20 85 95
4 1 A 4 :
o © methad uf Jeyy Squares, fit p struight line, using that estimate the profit for

"

l?ﬁmlﬂ.in the fn].lowing : g

(i) Expected Pay Off 25 davvonline.com

Eﬂlﬂﬂﬂtﬁ the I;Jﬂeiﬁt:ient of Correlation : (Karl Pearson's Method)
" 2 10 8

X : 9 11 _ ; a

Arithmetié Mean of X and ¥ series gre 6 and B reapectively.



